COMPLEX NUMBERS

Roots Sum of roots: Product of roots:
Equation Discriminant
zZ, + z, Z1Zy
Z; Z,
z24+49=0

722 4+624+25=0

72 -224+45=0
z2410z+61=0
472 —2474+37=0

322 -10z24+9=0
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2 10
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Solutions

Roots Sum of roots: Product of roots:
Equation Discriminant
zZ, + z, Z1Zy
Z Z3
2 _ . Y
z“+9=0 _36 3i 3i 0 9
2 — _ ; 32— 4j _
z“+6z+25=0 _64 3+4i 3—4i 6 25
2 _ —
z8=22+5=0 ~16 1+ 2i 1-2i 2 >
2 — _C 6 _
z24+10z4+61=0 s py 5 — 6i 10 61
472 — 242 +37 =0 ~16 341 5_1; 6 37
2 4
372 =102 +9 = 0 -8 5.¥2, | 5 V2, 10 3
3 3 3 3
2 4 —
2744z +5=0 ) 2+ —2—i —4 5
or equivalent
z2=2z+10=0 .
~36 1+ 3i L=3 2 10
or equivalent




